Roll No:-

(Sem - 1V) Diploma Exam 2024 (Even)
(Civil Engg.) (Theory)

[Time: 3 Hours] Basic Surveying (2015302-P )

- All questions are compulsory. (‘v'ﬂ-ﬁ Uy et % )
~ Marks are mentioned on the right side of each question. (3f® I+t U & a5 3R Sifead &Y )

Q.1
a)

b)

d)

Group (A) (YU -Q)

Answer all questions as directed. (2x10=20)
ETTTaR I usi & IW )

The curvature of the earth’s surface is taken into account only if the extent of survey is
more than . (100 Sq.km/160 sg.km/200 sg.km/260 sg.km)

T2t Y qdg DI gohdl Bl aH & T I S § O7d Faefor bl ST T 31w

811 (100 fpHIZ/160 fHHI2/200 fareiiz/260 fhHT2)

In chain surveying a tie line is primarily provided to
(check the accuracy of the survey/take offsets for detailed survey/to av0|d long offsets
from chain lines/increase the number of chain lines)

RIS Fd&or & ¥ fore ey =0 ¥ U dioTeh 341 UeH &1 St 3|
(&1 BT FIHd DI S B/ [IJd TAef0r & g Sfithde a/  Se xamei o
o T I Fa & forg/ S Y@1sh &1 Jer dgM)

Match the following in the context of surveying chains.

Types of Chains(P) Length of chain and number of links (Q)

(i)Metric chain (A) Length is 66 ft and has 100 links.

(ii)Surveyor’s chain (B) Length is 100 ft and has 100 links.

(iti)Engineer’s chain (C)Length is 33 ft and has 16 links

(iv)Revenue chain (D)Widely used and is available in length of 5,10,20&30m
SRiS Fderm & ey # fafafed &1 fem &%)

RIS & TR (P) SRS & dTs 3R Hsdl B WS (Q)

() HfeHIT (A TS 66 BIC 5 AR THH 100 BT &

(i)  FIR A (B) TaTS 100 BIc & 3R 3HH 100 HIST1 &

(i) SONMERTE  (C) WdTs 33 Wic § SR 39H 16 Hf3aT &

(v) Xag oA (D) TS &Y J ITINT a1 ST § 31R 5,10,20

3R 30 Her BT daTs d Juay §
Match the following parts of Prismatic compass with their functionalities.
(i)Metal box (A)Heart of the compass
(ii)Pivot (B)Protective casing against dust
(iii)Lifting pin (C)Centrally located part
(iv)Magnetic needle (D)Provided right below the sight vane

forTifes wromg & e Ui o 3®! eriemarsit & Iry gafd &3
() udEEgRr (A s #1FH%
i g (B) YT & %G YR&THD SHTERUI
(i) SRRt A () F= T fRyd ym
(v) JEBI G (D) =P Hda® & 3lIh -d UaH fobdr T
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e) If there is no local attraction at a station, the difference of fore bearing and back bearing is
always 180°. (True/False)

gfe, fordft R\ R PIE R My 81 7, @ 371 fopam iR uy Ream &1
3R GHRIT 180° BIAT & | (T/3RT)

f) The first staff reading taken after setting up of level on the point of known RL is known as

(fore sight reading/initial sight reading/back sight reading/intermediate sight reading)
I RL & fdg W dadt R A & 91G ol T8 Ugel! Wb UIGdidh bl ob HIse &
0§ ST ST 8 |(STds UIsdie /| RS =Y uredid/ BUIERI |
Uredish/ SfaRIadih UTedidh)

g) Ifthe R.L. of collimation is 150 m and height of instrument is 1.0 m, the reduced level for
instrument station will be 149 m. (True/False)

I FIFXM HTR.L. 150 HieX § SR P X/ AT a8 1.0 HIex &, df I WA
o fu garHta ae 149 O8N | (T/319)

h) Contour lines close together indicate steep slope. (True/False)

TH-gER ¥ IS g5 JHe @I ciid AT Pl Hobd oall & |(T/ )

i) Contours of different elevations may cross each other only in the case of
(an overhanging cliff/ a vertical cliff/a saddle/ an inclined plane).

- Sargdl &t THI Sl bad o1 TS H T -gR &t

HIC qHhT 81
(TP dcahdl gs agi/ U HWR IgH/ Th s/ Tb Fhl g3fl ds)

J) of a digital planimeter is responsible for tracing the boundary of the
area to be measured.
(Rolling wheel/Rotating arm/Measuring wheel/Digital display)

fefied wHdier @ A0 OH 9 &F Hi U & a1 A
¥ fow mier & g
(GF- 9TeT Tfgay g+ arelt Ys {19+ aren ufgan fefea few)

Group (B) (99 -8

Answer all five questions. (I¥} dTa wei & IR ) 4x5=20

Q.2  Explain the principle ‘Always work from whole to the part” with an example.

gAY Iuuf T & oY 3k W # dic R Bife U Y & HIAT

& RIgid &I T IaTerul gied JHSI|
OR (31YdT)

Explain the following terms-
0] Representative fraction (R.F) (ii) Diagonal Scale

frafafad vl & THm=a-
i Feus it Giy  fowulf dumm
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Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Mention the various factors affecting the selection of survey station.

Id WIH & I B! YU B aTdl fafie sRab! T Ieeia B |
OR (31YdT)

Draw survey map showing Base-line, Tie line and Check line.

YR W1, Ao @M U7 G0N 34T [G@Td §T Hd&or At ¢

Explain declination of magnetic needle and give its types.

JID 1T G & ST DI THISY U1 TP TSR Fa1sd|
OR (31¥dT)

Draw a neat sketch of prismatic compass.

e fGagae &1 teh Wws @l §1U|

Explain the importance of benchmark in levelling.

qAeUl H do-fog & Hed &) 9Hem=d |
OR (31YdT)

Explain the characteristics of contour with neat sketches.

T YW gRT 9Hr &1 faRvdrd uemsy |
State the uses and advantages of digital planimeter.

fSfored wiHer & ITANT 3R aTH Fard|
OR (37d)

Explain the main components of a digital planimeter and their functions.

f&fored writex & T gl 3R 3% Bl & RSl He |
Group(C)(‘Jq-'\‘ﬁ)

Answer all five questions. (Gt aTa wsif & IR S |) 6x5=30

Explain the classification of survey based on method and object of surveying.

gderr & f3fYy Td ITZT P SMUR TR FA&UT BT A0 THSSY |
OR (37¥a)

Construct a Diagonal scale of RF = 3:200 (i.e. 1:66 ) showing meters, decimeters
and centimeters. The scale should measure up to 6 meters. Show a distance of
4.56 meter.

ez, S4fiHieR iR YdiHier fR@IA §URF = 3:200 (AT 1:66) HITH
?ﬁ?ﬁwaﬂmﬁnﬁwﬁme Hex d% gl Mgl 4. 56 HICX I gl
|

A 30 m chain was found to be 8 cm too long after chaining 880 m. It was found 18
cm too long after chaining a total distance of 2200 m. If the chain was correct
before commencement of work, find the true measured length.

U 30 Hie SRIF 880 HleR g3t HIUA WR 8 YT 31 il Urdl Y| o
2200 HieX BI G HUA & 18 I8 18 U1 i owll urdt it | afe v

& B ¥ g oRid He! &, df et AUt TS g)l A1d Be

OR (31Yd)
Plot the following cross staff survey of field and calculate area in m2. All readings
are in metre(m).
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Q.9

Q.10

o Q
= S
L]
D — K Py il O |A
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fafiad &3 &1 HIg W gderur sia Wid durH2 § &5 &) AT 9

U m
L]
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p—4 Lo |
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D — P = Py — O |A
[ &) (2N
W -
o oy

Explain graphical method of adjustment of closing error of a traverse.

fpat v Bt THUA I & THAISH ! e 3y e
OR (37¥dT)

Following bearing were recorded in running closed traverse ABCDE. Calculate included
angle of the traverse.

Line Fore bearing Back bearing
AB 110° 00° 290" 00°
BC 30°15° 214" 15
CD 244° 00° 64° 00
DE 310°15° 130"15°
EA 192°%4s5° 14° a5°

§¢ <% ABcDE H FHGIRad UoH gof fhu 71T A i & 3RS HI0T B

T B |
Line Fore bearing Back bearing
AB 110°% 00° 290" 00°
BC 30°15° 214" 15°
CD 244° 00° 64° 00
DE 310°15° 130" 15
EA 192°% 45> 14° a5

State the methods of contouring and explain any one in detail.

A Y B! faftal 9art 3R {5} U ! fadR ¥ gHema|

OR (31YdT)
Calculate the missing readings and apply arithmetical checks also.
Station BS IS FS Rise Fall RL Remark

1 3.125 x B.M.1
2 x x 1325 125005 | CP1
3 2.320 0.055 x
4 1.920 x 125.350
S X 2655 x 124.615 eEp2
6 1.620 3.205 2.165 x CP3
7 3.625 x 122.450
8 < 2.145 122.590 | B.M. 2

W UTSAIh Bt ITUHT B3 3R B0 e 4} H
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Station BS IS FS Rise Fall RL Remark

1 3.125 X B.M.|
2 x x 1.325 125.005 CPl

3 2.320 0.055 x

4 1.920 x 125.350

5 x 21655 x 124.615 cP2
6 1.620 3.205 2.165 x cP3

7 3.625 x 122.450

8 x 2.145 122.590 | B. M. 2

Q.11 Describe procedure for measuring area using digital planimeter.

fEfred WieR &1 STANT BB 8T HIUS & UfshdT T 9ufd B |
OR (31YdT)

Explain the procedure of computing the volume of reservoir from any contour
map.

3t T AR ¥ SAR™ & I &1 0T B B Uishar THRd |
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